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‘Explain the Cohen-Sutherland line cloping

‘What is animation ? Write the stages of an
animation sequence design. H

What is multimedia ? Define hypertcxt and

hypermedia. 5

‘Write about video compression. 5

‘Whatis surface rendering ? Explain parallel

projection. 2135

. Wite short notes on : (any three) 3x5=15
) Video *controller.

o) GKs

e b 3

e about the Bresenham’s Line Drawing 4 @ Wire frame modslling
yod oy 7

/(@ Raster scan display.

brief to enhance

(o) Graphics function.
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EMBEDDED SYSTEMS
Paper : 304
Full Marks : 75
Pass Marks : 34 -
Time : Three hours

The figures in the margin indicate full marks
Jor the questions.

Answer any five questions

4 (a) Define Embedded systems. Briefly explain
recent trends and developments of embedded
systems in different application areas. 6

() Explain briefly the functions of different
‘components of embedded systems. 9

{/(a} How will you define feasibility of
microprocessor vs microcontroller in
different embedded systems ? 6

Contd.




image9.jpeg
"

- () Write'a program to blink LEDs mmsﬁq

10 the Port-1 of 8051

‘Write short notes on : (any fhree) au@
(a) ARM processor 2

(5) 8051 interrupts

1})’ 8051 serial communications:

(d) SFR in 8051

(¢ LIMP & SIMP

W LCALL & ACALL.

When RTOS becomes cssential for

bedded systems ? What arc the scrvices

by RTOS in addiion 0 basic 05

57 6
i

Br mymm the role of embedded

£ incering in embedded system

9

6
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OBJECT ORIENTED
PROGRAMMING AND DESIGN
Paper : 305
Fall Marks : 75
Pass Marks : 34
fime : Three hours

The figures in the margin indicate full marks
Jfor the questions.

Answer any five questions.

What do you mean by OMT (objeet
modelling technique)? State the feature of
three different types of model in OMT.

3169

(k) What do you mean by object and class?
Txplain with example. 3

(9 Explain with cxample a qualified association.
3

Cond.
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i, Tnterface
iv. Single Inheritance -

v Multiple inheritance

v Abstraction.

Write a short note on the relationship.

between use case diagram and Sequence
diagram. 6

‘What is dynamic modelling ? Briefly explain
cvent and states. Give the state diagram for
a phone line. Thr4-9

of @

(k) What is java token? Explain the type of
java token with cxample. s

Explain the life cycle of thread. Write a
program in java to demonstrate yield(),
slocp( ), stop() methods of a thread. 10

/7. Write short notes on any three of the following

53-15
(a) Generalization
(b) Multithreading
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Paper : 303
Full Marks : 75
Pass Marks : 34

‘Time : Three hours

The figures in the margin indicate full marks
for the questions

Answer any five questions.

1. Explain, with example, the difference between ;
345415
(@) Rollback and Commit

() Order By and Group By
Where and Having

Primary Key and Foreign Key

INF and 2NF
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(a) Display Owner_name of the ir
whose Contact_no is not available in
database.

Display Industry.name whose peak_months
includes ‘FEB'.

Display  Industry name  having
profit_per_month greater than the average
1995 profit of all the industries.

Fr— Count total number of industries whose
names start with alphabet ‘D

“lingkbong

APRMAY (©) Display Indusry_name and block of the oldest
| avaiser industry available in the database.

DEC

9859640803

33000
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5. Consider the folowing

igger- 5215715
create or replace trigger Industry trigger

before update on Industry

for cach row.

T

begin

insertinto industry_backup

Values (: old Industry_id oldIndustry. nameold. -
Owner name,jold.Year_of establishment old.
District.;old.Block.:old peak _months, old.
per_month);

@ 1 :old.Industry_name is changed to
+newlndusiry._name, wil it show compilation
rror 2 Explain in support of your answer.

(%) 1 or replace’ words are removed from the;
first linc, will it show compilation error ?
Explain in support of your answer.

(© Whatis the significance of the third line.
cachrow’ ?

3IMCA (NCECS)DBMS-UD 5 Comtd.
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(@ Hashing

(@ Data Recovery

() Deadlock Preyention
the trigger so that any null value of

mgflndnswy table is inserted as
tioned” into industry_backup

minus with example.

short notes on : (any three)  3¥5°15

b Al o st T
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SYSTEM SOFTWARE
Paper : 301
Full Marks : 75
Pass Marks : 34
Time : Three hours.

The figures in the margin indicate full marks
for the questions.

Answer Question No. 1 and any four from the rest.

I. (@) Choose the correct or best fit answer
1555

() Which type ofstring i accepted by the
following automata ?

(4) Al strings
(B) Nul string
(C) Nosting
(D) All of the above.
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I Recursive descent parser follg
bottom up approach in parsing.

Livery context five grammar is a regular

{ grammar. £
| (iii) Interpreter does not produce object
code.
the following regular () S—aBb where §, BeVy, abey)
n‘;u ﬁn::iﬁsslﬁlgg‘ :Sf production is a type-3 grammar.

(v The translator which performs macro
cxpansion is called a Micro-
preprocessor.

(c) What are the different types of statement
present in an assembly program 7. g

(@) What do you mean by language processing ?
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Lefl factor the following:

> B B |edg | e cdf B

single pass assemblor? How can i

() What is the basic problem oceurred 3. a
be
resolved ? 224

4. (@ Explain the concept of translated, linked and:

® Toad time address of a compilet. 6
>
iy (®) inti
float a, b
boati
: Writc the syntax and semantic analysis for
parse tree for generating the string the above program scgment. 3136
fiom the grammar given below. 2
% 2 (9 What is shiftseduce and reduce-reduce
conflict? 3

5. (a) Writ the back-end of the compiler. 4.
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(%) Wite a yace specifcation fo

calculator.

(¢) Write the method of constructing operator
precedence functions which is used in

operator precedence parser.

(@ SLR parsing

() Two pass assembler
() Macro preprocessor

(@ Loader and linket

s

‘Short notes on ny three of the following ¢

3515,

() Predictive parser using recursive calls.
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COMPUTER GRAPHICS AND MULTIMEDIA
Paper : 302
Full Marks - 75
Pass Marks - 34
Time : Three hours

The figures in the margin indicate full marks
Jfor the questions.

Answer any five questions.

Answer thefollowing questions 34515

(@) Write about MIDI files.
() Write short notes on sound compression.
(c) Writc about the CMY color model.

(d) What is morphing ?

() Explain about the MIDI hardware.
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